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Chapter 7 Quiz

	1.
	A while statement executes a block of code repeatedly. 


	2.
	A while statement is often called a loop. 


	3.
	Given the following code segment:

int count = 1;

while (count < 4)

{

    System.out.print("Java");

    count++;

}

What will be printed? 

	A)
	nothing will be printed 

	B)
	JavaJavaJavaJava 

	C)
	JavaJavaJava 

	D)
	Java 


	4.
	Given the following code segment.

int counter = 0;

while (counter < 5)

{

    System.out.println("Hello");

}

What will happen when you try to compile and execute it? 

	A)
	It will not compile. 

	B)
	It will compile but throw an exception (have an error) when you try to execute it 

	C)
	It will compile and execute, but nothing will print. 

	D)
	It will compile and execute, and will print Hello in an infinite loop 

	E)
	It will compile and execute, and will print Hello five times. 


	5.
	Any loop that can also be written as a for loop can be written as a while loop. 


	6.
	The three parts of the for loop header are the: 

A) initialization

B) condition 

C) update 

D) body 


	7.
	The three slots in the for header can contain any three expressions. 


	8.
	How many times will this for loop execute?

for (int i=1; i<7; i++)

{

... 

}

	A)
	0 

	B)
	5 

	C)
	6 

	D)
	7 


	9.
	What does the following loop print?

int total = 0;

int n=0;

for (n = 1;  n<=5;   n++)   ;

    total = total + n;

System.out.println(total); 

	A)
	15 

	B)
	6 

	C)
	0 

	D)
	11 


	10.
	Any loop that can also be written as a while loop can be written as a for loop 


	11.
	Pick the best answer.

You want to print a multiplication table in rows and columns. This is a good place to use ... 

	A)
	nested loops. 

	B)
	a for loop 

	C)
	a while loop 

	D)
	a series of println statements. 


	12.
	The values space, tab, and newline are collectively called: 

	A)
	ASCII character set 

	B)
	whitespace 

	C)
	End-of-data characters 

	D)
	backspace characters 


	13.
	The method that allows access to individual characters in a string is: 

	A)
	CharAt 

	B)
	charAt 

	C)
	Position 

	D)
	positionOf 


	14.
	Given the following code segment:

boolean done = false;

while (!done)

{

    String input = JOptionPane.showInputDialog(

      "Enter next grade.");

    if (input==null)

       done = true;

}

When will the loop terminate? 

	A)
	When the user hits Cancel button and the input string is null. 

	B)
	When the user enters done and hits OK. 

	C)
	When the user enters -1 and hits OK. 

	D)
	It will never terminate. 


	15.
	You can use a ____ to break an input line into words. 


	16.
	Given the following:

String month = "March";

What is month.charAt(2) ? 

	A)
	'M' 

	B)
	'a' 

	C)
	'r' 

	D)
	"a" 

	E)
	"r" 


	17.
	In a simulation, you repeated generate ____ and use them to simulate an activity. 


	18.
	In a do loop, the test is performed after the statement is executed. 


	19.
	The while loop performs its test before executing its statement. 


	20.
	Explain what is wrong with the following nested loop.

for (int i=0;i<=3;i++)

    for (int i=1;i<=4;i++)

    {

         System.out.println (i);

    }


	21.
	The maximum nesting depth of any Java loop is 100. 


	22.
	All numeric input must be initially read into a string then converted to the proper numeric type. 


	23.
	When using the BufferedReader's readLine method, end-of-data is detected by comparing the input string to the nil value. 


	24.
	End-of-data on a DOS-based computer system is entered as: 

	A)
	EOD 

	B)
	CNTL+d 

	C)
	CNTL+z 

	D)
	999 


	25.
	What happens when you try to convert a string to an integer value and the string does not contain valid integer characters? 

	A)
	A NumberFormatException is thrown 

	B)
	Nothing 

	C)
	The values are converted to zero 

	D)
	The values are converted to -1 


	26.
	A sentinel value is a special value that is used to signal end-of-data. 


	27.
	Write a for loop that prints out all the even numbers between 100 and 2 in reverse order, i.e., 100, 98, 96, etc. 


	28.
	Write a Java program to simulate the flipping of a fair coin (50% heads and 50% tails) 10,000 times then display the number of heads produced. 
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